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Constant = 14.19 +- 1.548 
Mean     = 139.9 +- 0.1578 
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Chip 3 Vt50 at 2.00fC Nent = 127    
Constant = 17.19 +- 1.868 
Mean     = 136.8 +- 0.1308 
Sigma    = 1.474 +- 0.09248 
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Chip 4 Vt50 at 2.00fC Nent = 126    
Constant = 16.09 +- 1.756 
Mean     = 135.4 +- 0.1391 
Sigma    = 1.562 +- 0.09838 
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Chip 5 Vt50 at 2.00fC Nent = 123    
Constant = 11.61 +- 1.282 
Mean     = 144.6 +- 0.1906 
Sigma    = 2.114 +- 0.1348 
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Chip 0 Gain at 2.00fC Nent = 126    
Constant = 29.17 +- 3.196 
Mean     = 52.01 +- 0.07644 
Sigma    = 0.8547 +- 0.05405 
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Chip 1 Gain at 2.00fC Nent = 127    
Constant = 21.17 +-  2.31 
Mean     = 50.87 +- 0.1053 
Sigma    = 1.187 +- 0.07502 
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Constant =  24.6 +- 2.685 
Mean     = 51.19 +- 0.09101 
Sigma    = 1.022 +- 0.06435 
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Chip 3 Gain at 2.00fC Nent = 127    
Constant = 24.87 +- 2.703 
Mean     = 49.87 +- 0.09037 
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Chip 4 Gain at 2.00fC Nent = 126    
Constant = 22.43 +- 2.448 
Mean     = 47.42 +- 0.09981 
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Chip 5 Gain at 2.00fC Nent = 123    
Constant = 14.64 +- 1.617 
Mean     = 55.29 +- 0.1511 
Sigma    = 1.676 +- 0.1069 
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Chip 0 Extrapolated Offset Nent = 126    
Constant =  31.8 +- 3.483 
Mean     = 37.33 +- 0.1403 
Sigma    = 1.568 +- 0.09919 
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Constant = 24.04 +- 2.613 
Mean     = 37.17 +- 0.187 
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Constant = 29.49 +- 3.218 
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Chip 3 Extrapolated Offset Nent = 127    
Constant = 28.43 +-  3.09 
Mean     = 39.42 +- 0.1581 
Sigma    = 1.782 +- 0.1118 
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Chip 4 Extrapolated Offset Nent = 126    
Constant = 27.61 +- 3.012 
Mean     = 44.79 +- 0.1622 
Sigma    = 1.821 +- 0.1147 
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Constant = 27.61 +- 3.012 
Mean     = 44.79 +- 0.1622 
Sigma    = 1.821 +- 0.1147 
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Chip 5 Extrapolated Offset Nent = 123    

Constant = 23.49 +- 2.595 
Mean     = 33.96 +- 0.1883 
Sigma    = 2.089 +- 0.1332 
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Constant = 23.49 +- 2.595 
Mean     = 33.96 +- 0.1883 
Sigma    = 2.089 +- 0.1332 
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Chip 0 Input Noise at 2.00fC Nent = 126    
Constant = 88.11 +- 9.399 
Mean     = 611.9 +- 1.713 
Sigma    = 18.82 +- 1.125 
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Constant = 88.11 +- 9.399 
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Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

10

20

30

40

50

60

70

80
Chip 1 Input Noise at 2.00fC Nent = 127    

Constant = 77.96 +- 8.394 
Mean     = 619.3 +- 1.928 
Sigma    = 21.65 +- 1.329 
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Chip 2 Input Noise at 2.00fC Nent = 126    
Constant = 81.53 +- 8.725 
Mean     = 650.3 +- 1.844 
Sigma    = 20.53 +- 1.238 
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Constant = 81.53 +- 8.725 
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Chip 3 Input Noise at 2.00fC Nent = 127    
Constant = 76.01 +- 8.319 
Mean     = 636.3 +- 1.968 
Sigma    = 22.22 +- 1.417 
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Chip 4 Input Noise at 2.00fC Nent = 126    
Constant = 76.92 +- 8.465 
Mean     = 629.9 +- 1.936 
Sigma    = 21.79 +- 1.399 
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Constant = 59.81 +- 6.606 
Mean     = 562.5 +- 2.466 
Sigma    = 27.35 +- 1.744 
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Constant = 16.58 +- 1.802 
Mean     = 140.8 +- 0.1356 
Sigma    = 1.528 +- 0.09586 

Chip 0 Vt50 at 2.00fC Nent = 127    
Constant = 16.58 +- 1.802 
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Chip 1 Vt50 at 2.00fC Nent = 128    
Constant = 18.12 +-  1.97 
Mean     =   142 +- 0.124 
Sigma    = 1.398 +- 0.08771 
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Chip 2 Vt50 at 2.00fC Nent = 126    
Constant =  17.9 +- 1.953 
Mean     = 139.4 +- 0.1251 
Sigma    = 1.404 +- 0.08844 
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Mean     = 139.4 +- 0.1251 
Sigma    = 1.404 +- 0.08844 

Vt50 (mV)90 100 110 120 130 140 150 160 170 180

n
(C

h
an

n
el

s)

0
2
4
6
8

10
12
14
16
18

Chip 3 Vt50 at 2.00fC Nent = 127    
Constant = 18.12 +- 1.969 
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Constant = 13.44 +-  1.46 
Mean     = 137.2 +- 0.1673 
Sigma    = 1.886 +- 0.1183 
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Constant = 14.53 +- 1.579 
Mean     =   146 +- 0.1547 
Sigma    = 1.743 +- 0.1094 
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Constant = 27.45 +- 2.983 
Mean     = 52.73 +- 0.08191 
Sigma    = 0.923 +- 0.05791 
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Constant = 23.02 +- 2.492 
Mean     = 54.64 +- 0.09804 
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Constant = 25.42 +- 2.774 
Mean     = 49.04 +- 0.08808 
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Chip 3 Gain at 2.00fC Nent = 127    
Constant = 24.31 +- 2.642 
Mean     =    50 +- 0.09248 
Sigma    = 1.042 +- 0.06539 
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Chip 4 Gain at 2.00fC Nent = 128    
Constant = 21.81 +- 2.371 
Mean     = 48.64 +- 0.1031 
Sigma    = 1.161 +- 0.07287 
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Chip 5 Gain at 2.00fC Nent = 127    
Constant = 16.36 +- 1.778 
Mean     = 56.15 +- 0.1374 
Sigma    = 1.549 +- 0.09718 
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Mean     = 35.46 +- 0.1565 
Sigma    = 1.763 +- 0.1106 
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Constant = 28.74 +- 3.123 
Mean     = 35.46 +- 0.1565 
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Chip 1 Extrapolated Offset Nent = 128    
Constant = 30.58 +-  3.31 
Mean     = 33.27 +- 0.1476 
Sigma    =  1.67 +- 0.1044 
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Constant = 30.58 +-  3.31 
Mean     = 33.27 +- 0.1476 
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Constant = 28.01 +- 3.057 
Mean     =  43.4 +- 0.1598 
Sigma    = 1.794 +- 0.113 
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Constant = 28.01 +- 3.057 
Mean     =  43.4 +- 0.1598 
Sigma    = 1.794 +- 0.113 
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Chip 3 Extrapolated Offset Nent = 127    
Constant = 27.38 +- 2.976 
Mean     = 41.32 +- 0.1642 
Sigma    =  1.85 +- 0.1161 
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Constant = 27.38 +- 2.976 
Mean     = 41.32 +- 0.1642 
Sigma    =  1.85 +- 0.1161 
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Chip 4 Extrapolated Offset Nent = 128    
Constant = 23.02 +- 2.502 
Mean     = 41.86 +- 0.1953 
Sigma    = 2.201 +- 0.1381 
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Constant = 23.02 +- 2.502 
Mean     = 41.86 +- 0.1953 
Sigma    = 2.201 +- 0.1381 
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Chip 5 Extrapolated Offset Nent = 127    
Constant = 22.76 +- 2.473 
Mean     = 33.44 +- 0.1976 
Sigma    = 2.226 +- 0.1397 
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Constant = 22.76 +- 2.473 
Mean     = 33.44 +- 0.1976 
Sigma    = 2.226 +- 0.1397 
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Chip 0 Input Noise at 2.00fC Nent = 127    
Constant = 74.14 +- 8.065 
Mean     = 607.5 +- 2.021 
Sigma    = 22.78 +- 1.433 
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Constant = 74.14 +- 8.065 
Mean     = 607.5 +- 2.021 
Sigma    = 22.78 +- 1.433 
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Chip 1 Input Noise at 2.00fC Nent = 128    

Constant = 89.92 +- 10.19 
Mean     = 602.8 +-  1.65 
Sigma    = 18.99 +- 1.299 
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Constant = 89.92 +- 10.19 
Mean     = 602.8 +-  1.65 
Sigma    = 18.99 +- 1.299 
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Chip 2 Input Noise at 2.00fC Nent = 126    

Constant = 73.22 +- 7.989 
Mean     = 658.2 +- 2.039 
Sigma    = 22.88 +- 1.441 
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Constant = 73.22 +- 7.989 
Mean     = 658.2 +- 2.039 
Sigma    = 22.88 +- 1.441 
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Chip 3 Input Noise at 2.00fC Nent = 127    
Constant = 78.16 +- 8.474 
Mean     = 590.5 +- 1.919 
Sigma    = 21.61 +- 1.348 

Chip 3 Input Noise at 2.00fC Nent = 127    
Constant = 78.16 +- 8.474 
Mean     = 590.5 +- 1.919 
Sigma    = 21.61 +- 1.348 
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Chip 4 Input Noise at 2.00fC Nent = 128    

Constant = 67.28 +- 7.304 
Mean     = 683.9 +- 2.228 
Sigma    =  25.1 +- 1.571 

Chip 4 Input Noise at 2.00fC Nent = 128    
Constant = 67.28 +- 7.304 
Mean     = 683.9 +- 2.228 
Sigma    =  25.1 +- 1.571 
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Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 67.11 +- 7.293 
Mean     = 575.7 +- 2.233 
Sigma    = 25.17 +- 1.578 

Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 67.11 +- 7.293 
Mean     = 575.7 +- 2.233 
Sigma    = 25.17 +- 1.578 
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